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L Answer following short questions; - J (351
a Stlpp-osa. o & 3 l. oo i B, ™ 5 o : .
: window bt:lil:‘ :e:;(i‘l} cmg"’ti?n window is set to |8 KB and a timeout occurs, How big will the

. OUr transmission bursts are all successful? Assume the maximum segment size is 1

b, What is Silly Wi o : ¥ __
_ f nlll 15 Silly Window Syndrome? Explain different algorithms that can be used to avoid the problem - -
?: si iy window syndrome _ . &
¢ Consider a sitation in which a cyber terrorist makes all the DNS servers in the world crash |

.. simultaneously. How does thi
s, A M . s change one’s ability to use the Internet? o < emet
e any companies have a policy of having two (or more) routers connecting the company to the In

- to provide some redundancy 2 y to the
Explain your answerun _ Y In case one of them goes down. Is this policy sp'll Poss@o with NAT?
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.. & Why FTP uses two : “ , k-
B Iy connection? mt‘ CﬁnnchOF:s? Why FTP generates .out of band” message “E;;oﬂm’l L
e 'Explau.l%dﬂm"‘"bﬂwﬁennon-perslstentHTTPandpersiétentHITPmnngcﬁonsf' < B
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- Using the concept of hamming code (erfor correction éode) encode the following 14 bit
e _sequence, and after encoding assume a single bit error at any location and then apply the

[y 2o

. l4bitsequence = 1100001111010
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3. Consider sending a 8000-byte datagram into a link that has an MTU of 500 bytes. Suppose the * "

+  original datagram has the identification number 512. Answer following questions . [10] ...
- - ‘a."How'many segments are generated? - - - 0 (§) ~us »
.- . b. What are the values of Identification, DF, MF and fragment offset fields? (5) - .
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4. Assuming TCP Reno is the protocol experiencing congestion as shown in the figure given l:!el:!w,
' answer thé following questions. In all cases, you should provide a short discussiop justifying e
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:ﬂ:ﬂ::g ms immiu of thine when TCP slow start Is opernting. : 3)
Afler ol |t| atervals of time when 'TCP congestion nvoldance is oremtiug. SR )
i “m“ll; 6th tranamission round, ta segment loss dotected by a triple duplicate A(Cl;. orbyn
J . : . ' 3 z
i d ' an{:::;:::; 22nd transmisslon round, |s segment los detected by a triple duplicate A(;:)K orbya
© & What Iy the Initlal value of ssehresh ut the first transmission round? e
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J*s Consider the network shown l".lo*'n.‘:'_:-* - .ll.(.'l
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i "'B_y “ii“‘_ the ““F’P‘ of Dijkstra’s ilgoriihm \érite d;ﬁn.tha forwarding table for the node “y™. * o Hy
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6 Use Variible-Léﬁgth Subnet Maﬂ:htg (VLSM) to deirelop a subnetting scheme for the
ngtwork_scenaﬂo'gWen below. TR ST, ;48] T
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cbes - )< Identify the total number of required subnets? (2) . .~
© by What s the subnet mask of cach subnet? . (). .

' ¢) Listdown tho Subnet 1Ds and host address

- " range of all the subnets; P
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